f—2£—36+f
.5, color=black) :

(x) = (1 —2x) y(x)?
—2300x-+2300x24—13800

-5.

d
R
-1/6},y(x));
'Y

1
2300
.3

(1-2*x) * (y (x)) *2;

DEQ09:
-2.

=y(x)
, X

YOlI :

> DE09:=diff (y (x),x)
[ > A:=DEplot (DE09,y (x),x=—4..4,y=-5..5):

| > with (DEtools): with(plots):
| > B:=plot (rhs (Y01)

[ > Y01:=dsolve ({DE09,y(0)

E>'restart;
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J-1—2x+2¢"

1},y(x));

y(x)

| > A:=DEplot (DEll,y(x),x=-2..2,y=-2..2):

, X) =—x*exp (x) :

Yil

*diff (y(x)

y (x)

> Yll:=dsolve ({DE1l1l,y(0)
| > B:=plot (rhs(¥11l) ,x=-1.6..0.7,y=-2..2,color=black):

;>'DE11:



> display (A, B);
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:>'DE16:=diff(y(x),x)=x*(x‘2+1)/(4*(y(x))A3):

> Y1l6:=dsolve ({DE1l6,y(0)=-1/sqrt(2)},y(x));

H6:yu)=—;\/2g+2

> A:=DEplot (DE16,y(x),x=—4..4,y=—-4..4):

> B:=plot (rhs(Y16) ,x=-4..4,y=-4..4,color=black):

> display(A,B);

B e e T R el et D e i P

———a—a s N s s e e ——

T e e s e e e e e e e e e

@



N ~——

\\\AQA_AAA_P_A_A_AA__A)_))//

=]

////—))—A—AA_XAAAAA“\\\\
P N G G G G G - g g N
B - J e i e R N




